
MNTS13 - 13" NUT/THREAD SETTER KIT

Parts Breakdown



Item: MNTS13

Description: 13" NUT/THREAD SETTER KIT

 The MNTS13 has a D warranty but was changed to M warranty to prevent the entire set from being Notes:
warrantied rather than individual parts. Should the main body of the NUT/Thread Setter be damaged, please 
contact the Supplier or Matco Customer Service for assistance. Be prepared with a picture of the damage and 
your Proof of Purchase. Supplier Phone: 1-800-221-9705 No. 42-44 are additionally available sizes: 8-32, 10-32 
& 3/8-16.

Figure No Part Number Description No. Reqd Warranty Code

1 H11442-A01 M8 NOSEPIECE F/MNTS13 1 L

2 H11442-A02 M8 MANDREL 8MMX1.25 F/MNTS13 1 L

3 H11442-A03 SLEEVE F/ MNTS13 1 L

4 H11442-A04 ADJUSTING NUT F/MNTS13 1 L

26 H11442-A26 5/16-18 MANDREL F/ MNTS13 1 L

27 H11442-A27 5/16 NOSEPIECE F/MNTS15 1 D

28 H11442-A28 M6 MANDREL 6MMX1.0 F/MNTS13 1 D

29 H11442-A29 6MM NOSEPIECE F/ MNTS13 1 X

30 H11442-A30 M5 MANDREL 1 D

31 H11442-A31 5MM NOSEPIECE F/ MNTS13 1 X

32 H11442-A32 1/4-20 MANDREL F/ MNTS13 1 D

33 H11442-A33 1/4-20 NOSEPIECE F/MNTS13 1 D

34 H11442-A34 10-24 MANDREL F/ MNTS13 1 D

35 H11442-A35 10-24 NOSEPIECE 1 D

36 H1RN5M M5 STEEL RIVET NUTS 100PC 1 T

37 H1RN6M M6 STEEL RIVET NUTS 100PC 1 T

38 H1RN8M M8 STEEL RIVET NUTS 100 PCS 1 T

39 H1RN1024 10-24 STEEL RIVET NUTS 100PC 1 T

40 H1RN14 1/4 -20 STEEL RIVET NUTS 100PC 1 T

41 H1RN516 5-16- STEEL RIVET NUTS 100PC 1 T

42 H11442-8/32A 8-32 MANDREL FOR MNTS13 1 T

43 H1144210/32A 10-32 MANDREL (FOR BLUE UNIT) 1 L

44 H11442-3816A 3/8 MANDREL F/ MNTS13 (NEW) 1 L


